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17. “wq” is used UNIX text editor to . (1 mark)
(A) delete a word (B) open a file (C) close a file (D) delete a letter

Section C: Theory
¥ Imt321.txt is a file on a UNIX system with file permissions rw-r----x. Using the

symbolic method, modify the permissions of the file to r—-rwxrw-. (5 marks)

2 Differentiate between Relative and Absolute filename. And provide examples of each.
(5 marks)
EF Write the commands in the right order to carry out the following functions. (5 marks)

a. Dlsplay current working directory
b. Change directory to /home!documents :

Create a directory called imt. 300 level ;

c. Create a text file using

__f_zext editor
MT Student”

d.. Type in the text “] an

PART B

Scctlon A: Fill in the Gap

. emory is __. (1 mark)

o know the current process ID in Bourne script? (1

5. Which builtsin variable-can be 18
mark)

6. The relational operator f e_\s’é_'-ihéh” is represented with __. (1 mark)
7. __ operator is used to check if a file exists in Bourne script. (1 mark)
8. command can be used to delete a character in vi editor. (1 mark)

9. User defined variable can be or . (2 marks)
e
&

Section B: Theory

I. (a) Explain what gee ¢it321.c -o ¢it321Prog will do when it executes at command line. (2

marks)
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(b) Write the syntax for while statement. (2 marks)
(c) List four (4) of the activities that Bourne script can automate in UNIX environment. (4
marks) ;
2. (a) What will be the output of the Bourne snippet below; (2 marks)
for K din abd1firsoys do =28 &
if teStSHIK 4=¥irs ghen

(b) Write a Bourne shell script to add two nﬁmbers and dlSplay the result. The script should
declare a function named ADDER to |mplement the addition- of these numbers and it should

return the result of the addition when invoked/called in same scrlpt In order to invoke the

function, the two numbers (use | d 45) should be passed as parameters (5 marks)




